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A

2019 (S)
SSC PART-I (10th CLASS)

BIOLOGY (NEW SCHEME)

TIME ALLOWED: 1.45 Hours

SUBJECTIVE J¥Le

(£ ) GH\

2145 = =

MAXIMUM MARKS: 48

NOTE: Write same question number

2. Attempt any five parts.

(i}
(i)
(iii)
(iv)
{v)
{vi)
(vii)
(viii)

3. Attempt any five parts.

(i)
(ii)

AS

48

gy I SaE bzt dhiz 2

and its part number on answer book, as given in the question paper.

SECTION-l sl

10=2x5
What is meant by Carcinogens? Where they are found?
What is meant by Passive smoker?

Write down two bad effects of Smoking.

Define Homeostasis and give an example.

Write down twe functions of Skin.

What are Trophic Hormones? Write their function.

Write down functions of Oxytocin.

What is meant by Gonads? Write its types.
10=2x5

Differentiate between Endoskeleton and Exoskeleton.

Write two roles of Skeleton.

Eferlinbia §f 2
e sl Ue 22l (i)
e s (i)
L il e i

U eiE gy @)
el e )

Py sl ()
L uree?™ (i
-.;z*"er:qu Cestpfe 2 (il
o feelizible & 34y
ETOA F T

S Sl (i

& i -
b uly

)

)
(i}  Wnite disadvantages of vegetative propagation in plants. -“i_’,‘/_f f;tu’ﬁéu’g’:{;ﬁ:&:wu»; (iii)
(iv)  Write two aims of Pakistan's National AIDS control program. ey, fkw;:&rlﬁgd,;é;!ﬁiuuﬂ; (iv)
(v) Define Asexual Reproduction and give example. _é:;dliwgi:_.y j"d/uig’/;.JJ}?a..l (V)
(vi)  Define Traits and give two examples. 'L"t‘,wlé LAl W)
(viiy  Write detail of Chromatin material. ,édtfuf"” (&S (i)

(viii)

4. Attempt any five parts.

Write names of four Nitrogen bases found in DNA.

10=2x5

G LS A il byt eSS (i)
- feelingie §S _a )y

(i) List four abiotic components of an ecosystem. ét 17 h L:__ulo.&("/ & gt (i)
(i) ~ Describe briefly food chain with an example. TSN Wy a1l (831 (ii)
(i)  What is Denitrification? *’4_bfw_iu AL iii)
(iv)  Write two objectives of Genetic Engineering. -éfgﬂh*v£-¢/’~“ﬂ~—@‘? (iv)
(v) What is Lactic Acid Fermentation? 5’.f_yfuﬁjjji—£fu@ (v}
(vi)  Differentiate between prescription drugs and non-prescription drugs. _gf': 5 l:&)ui‘.:.gmJlf-ﬂ‘f";;;):i;w&@}“" (vi)
(vii)  What are Hallucinogens? °u‘lf/'>"}u’:1f (vii)
(viii)  Define Antibiotics. ;_.u/" u‘y o"i (viii)

SECTION-Il (5.2

NOTE: Attempt any two questions. 18=9x2 _“égf:.gw:.-.»wnm.éf -y
5.(A) Describe the osmoregulatory function of kidney. 4 _“‘éubfdﬁfjﬁlb’d,;j (.5
{B) Describe structure of human ear. 5 iqb_»vd._)ls’dul ()
6.(A) Write the disorders of Skeletal System. 4 _J):ffu"/iéf/d’“bc (-6
(B) Explain the reproductive system of male rabbit 5 -J/ >Lm/bf(f(" ;sﬁjﬁu:i/ o)

with the help of diagram.
7.(A) Wiite a note on Carbon Cycle. 4 iy Bk (N7
(B) What is Fermenter? Explain the two methods 5 e ol Sus L Se R} ()

of Fermentation with the help of diagram.
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PAPER CODE 2019 (S) v,
SSC PART-ll (10th CLASS)

NUMBER: 3461

BIOLOGY (NEW SCHEME) (£ £) 8o,
TIME ALLOWED: 15 Minutes OBJECTIVE g’&{ w415 = =D
MAXIMUM MARKS: 12 12= AF

S /G‘-:Gfbwalbf&_/!ﬁcw»c_pﬁ u:}l.-é:.;’,wﬂlfﬁdlrﬁgdb’dlz - i’_':é..: D . C B <A a@iiﬁfkﬁdlﬁ; ke
{4V -f&bk:gﬁ:’/}éfuﬂa;ﬂfd.ﬂz ):J:fb -Eﬁ;ﬂﬂ@lﬁuﬂ(ﬁafoL& Al L L/Zr(u.sﬁbupc..ﬁ it
Note: ycu have four choices for each objective type question as A, B, C and D. The choice _L[/Jd’}{’r‘&ﬂir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling twe or more bubbkles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are niot filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 Ay
f' b -
(1) During night which type of gas is absorbed by piants ?g,*rté'_/ngru’ﬂu‘w/{p}f.b;rz_;;-.wé:,u (1)

through stomata?

(A} Carbondioxide %1 Téligr.JK B) Oxygen ;_-f?'fT C) Nitrogen 4t (D) Hydrogen ¢/.5L
Y9 ;

(2) Which of the following is a part of Renal Corpuscie? ﬁ‘gﬂb’ﬁ»(&ﬂ@,&.uﬁ 0] {2)
(A) Glomerulus u32#  (B) Loop of Henle &1iT_s  (C) Papillary duct <3S 4% (D) Pelvis sk

(3) Scinal cord is the continuation of: ‘LJ‘DIVJ{L{J@: (3)
(A) Cerebrum .« (B) Pons »{ (C) Medulla oblongata wiks/ts s (D) Thalamus fg

(4) A nervous disorder in which there is et rugaf;.i_,. sl sen i EAslind PRS0 (4)

excessive and abnormal dischargerof nerveiimpulsesin brainis called:

(A) Paralysis f,t- (B) Diabetes A2 {C} Meninges jﬁ,ﬁf (D) Epilepsy Jf

(5) The accumulation of uric'acid crystal$in moveable joints is-called: _.;__.tmﬁ(‘fb’fféidquxu: ), 8L (5)

(A) Osteoporosis 4.4+l (B) Osteoarthritis 4 Tyl

(C) Gout =3¢ (& (D) Rheumateid arthritis U™ 475ty

(6) The embryonic stem above the point of g Ly /suﬁf{,t;rwié_:zf.uyéf (6)

attachment of cotyledon is called:

(A) Epicotyl J/(s (B) Radicle .4 (C) Piumule Jxs (D) Hypocotyl Jis

(7) A scar on seed coat is called _..;‘:_t'JLJ;? :g_rﬁw&?._{l{_bféf (7)
(A) Micropyle ngf’n (B) Hilum (‘L’g (C) Ovule Jy+ (D) integument e pSaksl

(8) The chromatin material is made of; e bt S (8)
(A) DNA Ie/IS3 (B) RNA o te/LT (C) Protein iy (D) DNA and Protein ey sleie/S)

(9) An example of discontinuous variation is: _,;__JL'E*J@&:“UJ/ ,-f (9)
(A} Height & (B) Weight /s (C) Blood groups JJ:/(:U.« (D} Intelligence =-3

(10) The thickness of Biosphere is: e der S Ay (10)
(A) X% 20 km B) ¥ 25km (€) ¥ 30 km Dy 45 35 km

(11) The complete map of human genome was published in: i’f,fc‘j’lﬁ-qﬂd‘({rﬁﬂluuf (11)
{A) 2001 (B) 2002 (C) 2003 (D) 2004

(12) Which drug is obtained from minerals? e Qb e e baingie iyl (12)
(A) Merphine u-‘};L (B) Aspirin ¢/ {C) Antitoxins ;"/L‘j-* (D) Tincture iodine c,_fﬁffﬁ-g

26(0bj)( W)-2019()- | 250 muLtan)
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PAPER CODE 2019 (S) oD,
SSC PART-ll (10th CLASS)

NUMBER: 3463

BIOLOGY (NEW SCHEME) (£ £) GH
TIME ALLOWED: 15 Minutes OBJECTIVE (ﬁ/“.ﬂ? w15 = =
MAXIMUM MARKS: 12 12= A

A i b S QL Nrerne fb Ui s g 3837 <L D 4 C B A ARl S
{.-;/,J’YJ 1 -gi—lgijd/éfgﬁ u..';u!"'d/i./f:«.é J((JJ;]J -fm}‘?kus‘_ffﬂuﬁufcwfg!i_)z SN L i.f,afu,juuyc,._ﬂ -2
Note: you have four choices for each objective type question as A, B, C and D. The choice -q,&d’}fq..-.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wili result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) A scar on seed coat is called: =t Ell? ‘c‘:,,imuti{./l{gﬂ( (1
(A) Micropyle J/E:zc\, (B) Hilum (cg (C) Ovule Jysl (D) Integument m;fg.il
(2) The chromatin material is made of: B0 VA )
(A) DNA < I¢/IS3 (B) RNA _I/tT (C) Protein ¢#s; (D) DNA and Protein ¢ sl /I3
(3) An example of discontinuous variation is: —%J@Jﬁljyﬁf 3)
(A} Height . (B} Weight ¢/ (C) Blood groups u?';)j‘.t (D) Intelligence =i}

(4) The thickness of Biosphere is: -{-wthfL/(ffa’f v (4)
A) ¥ 20 km (B) ¥ 25km (C) A# 30 km (D) A# 35km

(5) The complete map of human genome was published in: ‘-’i_fy/é&._f'/jjf}(ﬁiuul (5)
(A) 2001 (B) 2002 (C) 2003 (D) 2004

(6) Which drug is obtained, from minerals? te Qe b e lmin e Uil (6)
(A) Morphine ¢4 (B) Aspirin ¢ ¢4 (C) Antitoxins ffL&f (D) Tincture iodine ujﬁ:fl"ﬁf

(7) During night which type of gas is absorbed by plants ?ugé_/:,%uﬂ%uf{dﬂit‘aﬁz. sl = (7)

through stomata?

(A) Carbondioxide %1/ Td3u¥ (B) Oxygen f’ 7 (C) Nitrogen ¢4+t (D) Hydrogen /%

(8) Which of the following is a part of Renal Corpuscle? Yo 2 falde iyl (8)
(A) Glomerulus U 2¥ (B} Loop of Henle #1314 (C) Papillary duct 2354 (D) Pelvis J,&.

(9) Spinal cord is the continuation of; ‘-'ﬁ-‘—x)ﬂﬂjuéiwfﬁ’ (9)
(A) Cerebrum ¢z (B) Pons #| (C) Medulla oblongata &ibslls 4> (D) Thalamus u/é’i?

(10) A nervous disorder in which there is bl % A e Ll PP IS  (10)

excessive and abnormal discharge of nerve impulses in brain is called:

(A) Paralysis éli (B) Diabetes LI} (C) Meninges /;’u‘:' (D) Epilepsy uf/

(11) The accumulation of uric acid crystals in moveable joints is called: e E eGPt Ly 2 S (1)

(A) Osteoporosis 5.4 (B) Osteoarthritis (1 % ol

(C) Gout L3¢ (& L_}f (D) Rheumatoid arthritis U~/ 4Ty

(12) The embryonic stem above the point of ALy gl feL L 2L YR (12)

attachment of cotyledon is called:

(A) Epicotyl Ji/5  (B) Radicle 1, (C) Plumule Jxd (D) Hypocotyl S/
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PAPER CODE 2019 (S) Vol

NUMBER: 3465 SSC PART-Il (10th CLASS)

BIOLOGY (NEW SCHEME) (A £) GBI
TIME ALLOWED: 15 Minutes OBJECTIVE uﬂ/y e 15 = oy
MAXIMUM MARKS: 12 12= A4S

A ch b SIS S Nrmone fo Ul &msit VL D Q6% B ELE D s C B A 2\l llrs o)
J;,g.;,é’nf 1 -b'i..b&:ﬁ/{jf@wxﬂ{f#[.«." J'(:IJ}" I3 -ﬁw;‘bi&..,alﬁu.&'gﬂaJﬂJL)z Py b Lx%:/’lmgk;ug -
Note: you have four choices for each objective type question as A, B, C and D. The choice _J_)::J’}Cf..—.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve gquestions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) A nervous disorder in which there is e bl w35 i elies A agnd PPN ()
excessive and abnormal discharge of nerve impulses in brain is called:
(A) Paralysis ét& {B) Diabetes i/} {C) Meninges f.'u:f (D) Epilepsy (,,‘j'
(2) The accumulation of uric acid crystals in moveable joints is calied: s i:lkftyr\*f’a/ﬂ"”/{_,idufgwf;ﬁucf? (2)
(A) Osteoporosis /5.4 5 (B) Osteoarthritis U 4 Ty!
(C) Gout 5¢ (5% (D) Rheumatoid arthritis U™ 475ty
(3) The embryonic stemn above the poini of -GBS e Ly fory ey elirluldd ()

attachment of cotyledon is called:

(A) Epicotyl Jfess (B)-Radicle Futs (C) Plumule /s (B):Hypocotyl i

(4) A scar on seed coatis called: - F7 ‘q_wwug{wi‘f (4)
{A) Micropyle J@s)?L (B) Hilum ﬂ:g (C) Ovule Uz (D) Integument i L4150

(5) The chromatin material is made of: e bt S (5)
(A) DNA o Ig/13 (B) RNA /1T (C) Protein ¢, (D) DNA and Protein ofsysle_lefIS3

(8) An example of discontinuous variation is: uﬂf-—l.,!'-‘/'uf-:-f/i"{)"'y 7 (6)
(A) Height & (B) Weight ¢/Js (C) Blood groups #s/2 (D) Intelligence w43

(7) The thickness of Biosphere is: ,.:;.ﬂ‘wuf/zj’.ﬂ (7)
(A} AF 20 km (B) ¥ 25 km (C) #¥ 30 km (D) ¥ 35 km

(8) The compiete map of human genome was published in: ‘-‘L_ft;@bﬁ‘__/fﬁﬁu{":ts’r;—:‘-’&ul)l (8)
(A) 2001 (B) 2002 (C) 2003 (D} 2004

(8) Which drug is obtained from minerals? fe de S b Pl Ay (9)
{A) Morphine .,-,f‘»szL (B) Aspirin ¢/ {C) Antitoxins ;ﬁ'fw&-t (D) Tincture iodine uji:,”'T/?

(10) During night which type of gas is absorbed by piants ?;g&/viqvf‘fjuf';*_{_d.ﬁlaﬁz_:g.::::ﬁ.;;,b (10)

through stomata?

(A) Carbondioxide ¥\ T34k (B) Oxygen o~ T {C) Nitrogen ¢/t (D) Hydrogen /.4

(11) Which of the following is a part of Renal Corpuscle? ‘-‘.f_.w”&%é’ukzb*ué— 0] (1)
(A) Glomerulus 2% (B) Loop of Henle FJT_4  (C) Papilary duct 235./F (D) Pelvis %

(12) Spinal cord is the continuation of: T Jﬂ(ufbfdi (12)

(A} Cerebrum z - (B) Pons »{ (C) Medulla oblongata &iksils i (D) Thalamus u/éf
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PAPER CODE 2019 (S) s
SSC PART-Il (10th CLASS)

NUMBER: 3467

BIOLOGY (NEW SCHEME) | (£ £) L
TIME ALLOWED: 15 Minutes OBJECTIVE M w15 = =
MAXIMUM MARKS: 12 12= AF

i | SR I I L Nrarne St s sl Dy 6812 <L ls D 1 C B oA 22l Ly kS
YRR I -ngLJufk}GfgﬁafoLjsi }(,'J}b ..ﬁf.zr‘jﬂl.._alﬁuﬁufanJL): Sk L é./éfu,}uug;.;..g e
Note: you have four choices for each objective type question as A, B, C and D. The choice _q/fzd'}ﬁc.mr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 -1 Ay

(1) The thickness of Biosphere is: -s‘:.(ji‘m;/?’;_f’g (1)
(A) X 20 km B) ¥ 25km (C) A# 30 km (D) #¥ 35km

(2) The complete map of human genome was published in: i’fggﬁq(ﬁuw{rﬁiuul (2)
(A) 2001 (B) 2002 (C) 2003 (D) 2004

(3)  Which drug is obtained from minerals? ?%J@JLVbc,,aywmu’ufcuId! (3)
(A) Morphine ¢A4 (B) Aspirin ¢f (C) Antitoxins #E (D) Tincture iodine o3¢ T4

(4) During night which type of gas is absorbed by plants S e sl sl b gL el (8)

through stomata?

(A) Carbondioxide %12 78158 (B) Oxygen f"j T (C) Nitrogen ¢+t (D) Hydrogen ¢/ 4L

(5) Which of the following is'a parf of Renal Cérpuscle? wlok s bl sor (5)
(A) Glomerulus 52¥  (B) Loop of Henle U/ (C) Papillary duct <S4 (D) Pelvis ok
(6) Spinal cord is the continuation of: *-‘q_d’u KBS % (6)
(A) Cerebrum - (B) Pons | (C) Medulla oblongata wiksis4+ (D) Thalamus u’éf"’
(7} A nervous disorder in which there is _:‘;_t‘lf-./ :ugﬁﬁ.&';. fﬁ,/‘ubuwug;om;:&;ufm&ﬁj’/gl..gs’("“wj (7)
excessive and abnormal discharge of nerve impulses in brain is called:
(A) Paralysis 6 (B) Diabetes i/} (C) Meninges #w~ (D) Epilepsy &
(8) The accumulation of uric acid crystals in moveable joints is called: _ﬁ;t‘LlH/tﬂCf'Kf"’f.C}dufgu:u;l/ﬁJ/v (8)
(A) Osteoporosis J/w‘{é’;f (B) Osteoarthritis 4 Tl
(C) Gout =3¢ (5 ?;j (D) Rheumatoid arthritis U4 T4y,
(9) The embryonic stem above the point of S FESE LY fonrpe il e;zz:uyé's’ (9)
attachment of cotyledon is called:
(A) Epicotyl J/L‘f._,fl (B) Radicle .4/ (C) Plumule s+ (D) Hypocotyl Jus¥|
(10) A scar on seed coat is called: e bl e byl (10)
(A) Micropyle Jis#L  (B) Hium 4, (C) Ovule Jys! (D) Integument &ia gkl
(11)  The chromatin material is made of: -{—Wt'-tj./ﬁ'fb/f (11)
(A) DNA < Ie/I$ (B) RNA I/, 7 (C) Protein ¢, (D) DNA and Protein s siele/IS
(12) An example of discontinuous variation is: -‘é-dﬁ’&f&'/:gf/ﬁ.’. (12)
(A) Height & (B) Weight ¢ (C) Blood groups uﬁu’fﬁ: (D) Intelligence =43
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